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— In yacc, a common hack is to use global variables to
simulate some kind of inherited attributes and thus
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# Very simple calculater.
RzIzTS5—
class Calcp
prechigh
@ nonassoc UMINUS
left ey EHFIBLOES
6 Operator Node left (R - P
— preclo‘w\ﬁﬁ(iz‘zﬁg FAskEES GE#RIHEES)
f @ \ @ / \ rule '///’//:;)iﬁﬂlliﬁfﬂfﬁl:iﬁﬂﬁ
’ é @ * 2 tarth/:fﬁgne */ { result = 0} #i02% B (0% B AVEE) (SR> TRl

2 ‘A ‘ \ Operand NOV { \4
PP

exp: exp '+' exp { result += val[2] }
| exp'-'exp {result-=val[2] }
| exp *' exp { result *= val[2] }
| exp'/'exp {result/=val[2] }
| '("exp")' {result=val[l] }
| '-"NUMBER =UMINUS { result = -val[1] }
| NUMBER
end DY AF A& UMINUSERILEES
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rule
target: exp B BR 7 3 E
| /* none */{result=0}

exp: exp '+' exp { result += val[2] }
| exp'-'exp {result-=val[2]}
exp ™' exp { result *= val[2] }
exp 'I"exp {result/=val[2]}
‘('exp') {result=val[1]}
“"NUMBER =UMINUS { result = -val[1] }
NUMBER

|

|

|

| £ E
end /l\ /f\
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rule BERTEHDHH, 7Y
target: exp PFLL. EHOEIAK
| /* none */ { result =0} NEohiLE EB5HN
ELLMME(FERICIF) T
exp: exp '+ exp { result += val[2] } <SRnd,

exp - exp {result-=val[2] }

exp ™' exp { result *= val[2] }

exp 'I"exp {result/=val[2]}

‘('exp') {result=val[1]}

' NUMBER =UMINUS { result = -val[1] }

| NUMBER E E
d
- /N 2
E + E E E E + E E E
s N VO /o IN SN N
NUM+NUM*NUM —> NuMm E * 'f E + E NUM NUM +NUM*NUM E=>  NUM IlE . 'f E + E NUM
NUM NUM NUM NUM NUM NUM NUM NUM
=1 — ] >
AL THES LR N—H—DENE
class Calcf —®WETRYEY CHLHRLLY:
rule $ racc -o calcf.rb calcf.y exp: exp '+ exp { result += val[2] }
target: exp 16 shift/reduce conflicts | exp "™ exp { result *= val[2] } 'f
| /% none */ { result = 0 } | ‘Cexpy {result=vall1]} /N
$ ruby calcf.rb | NUMBER E + /N
exp: exp '+' exp { result += val[2] } o . N M/ E ~ E
exp - exp { result -= val[2] } type Q" to quit. CNALEHT v | }
| exp " exp { result *= val[2] } — NUM  NUM
| exp'/ exp {result /= val[2] } ? 243 AJI: NUM + NUM * NUM
| '(exp")' {result=val[1] } =5
I '\-‘Ul\:/IUBI:EER { result = -val[1] } 2 24342 BEORE: E+E . -
end - Aliss
7 2%3+4 shift-reduce conflict %Y !
=14 ELCHSURITT BIZ3ES LD &L 2
?
o > o >
LR A—H—DE)E LR N—H—DEYE
—EEITRYEY CELARELLY: —EETRYEY CELARLLY:
exp: exp '+' exp { result += val[2] } exp: exp '+' exp { result += val[2] }
| exp ™ exp { result *= val[2] } E | exp ™ exp { result *= val[2] } E
| '("exp’) {result=val[1]} /‘\ E | '("exp’) {result=vall1]} ,/i\ E
| NUMBER /E + /¢\ | NUMBER /E + /¢\
. NUM E ~ E . NUM E~ E
ChbdED | | ChbBEHD | |
AF: NUM + NUM * NUM NUM — NUM AF: NUM + NUM * NUM NUM  NUM
BHEDIKE: E+E* \ REDIKEE: E+E*NUM \
CNETIT/N— CNETIT/N—
ALI-EH ALI-EHR

shift-reduce conflict %Y !
ELKHEXBTTBIZEES L&D ?
SHIFT

SHIFT SHIFT




LR N—F—DEE

—EREFERYE Y

LR N—F—DEE

hHLARLLY: —EEETERY S HLARLLY:
exp: exp '+' exp { result += val[2] } exp: exp '+' exp { result += val[2] }
| exp ™ exp {result *= val[2] } E | exp ™ exp {result *= val[2] } E
| '("exp’) {result=vall1]} E /‘\ E | '("exp') {result=val[1]} E ,/i\ E
NUMBER * NUMBER *
' VAN ' AN
. NUM E - E . NUM E - E
ChHSHD | | ChHSHE | |
AF: NUM + NUM * NUM NUM — NUM AF: NUM + NUM * NUM NUM  NUM
BWAEDIKRE: E+E*E BRAEDIKE: E+E
CNETIT/N— CNETIT/N—
ALI-E#H ALIEHR
REDUCE REDUCE
o > 7
LR /A—F—DEE A DFESCEEMT
—EETERY S ZHSARLLY: —EETERY S
exp: exp '+' exp { result += val[2] } exp: exp '+' exp { result += val[2] }
| exp ™ exp { result *= val[2] } E | exp ™ exp { result *= val[2] }
| '(exp') {result=vall1]} E /‘\ E | '(exp') {result=val[1]} £ £
NUMBER * NUMBER +
' / E./ ¢\E ' ]
NUM *
ShbbED [ chpsgs oM NUM
— —_—
AJI: NUM + NUM * NUM NUM- NUM AJI: NUM + NUM * NUM \ /
BEDKE: E BEDKE: E+E ShFETIZ/A—RLL
ZHETIZT/S— R
ALI-EH
shift-reduce conflict &Y !
REDUCE 5512 REDUCE L1z5&E5%5h
vl vl
R DIEX T A DIEX T
—EETERY S —EETERY S
exp: exp '+' exp { result += val[2] } exp: exp '+' exp { result += val[2] } - E
| exp ™ exp { result *= val[2] } E | exp "™ exp { result *= val[2] } E
| '("exp’) {result=val[1]} /l\. | '("exp') {result=vall1]} /L\ \«
| NUMBER IlE + E | NUMBER IlE + E NUM
ChhbEED NUM  NUM ChhbEED NUM  NUM
—_—— —*
AJI: NUM + NUM * NUM \ / AJI: NUM + NUM * NUM \ /
WEDKEE: E INFETIZ/N—RLT: BEDREE: E*E ZHETIZ/S—ALT=
R DIREE % R DIREE %
REDUCE

4E&: SHIFT SHIFT REDUCE




A DFESCEEMT

—EETERY S E
exp: exp "+ exp { result += val[2] } /i\E
| exp "™ exp { result *= val[2] } E
| '(exp') {result=val[1]} ,/L\ \
| NUMBER E + E NUM
ChhbES NUM  NUM
—r
AJI: NUM + NUM * NUM \/
BREDIKE: E ZNFETIT/A—ALTz
FEDKRE o
REDUCE

C_ETODEED

—EEFERYE T

CHLHERLLY:
exp: exp '+' exp { result += val[2] }
| exp ™ exp {result *= val[2] } E
| '(exp') {result=vall1]} E /i\ E
NUMBER *
' AN
) NUM E « E
ChnbED | |
AJI: NUM + NUM * NUM NUM- NUM
BRAEDIKRE: E+E
CNFETIZ/S—
ALI-EHR

shift-reduce conflict &Y !

ZABYHEIZE+E &Y, #FLT™

Shift LfzLY. SAMEE @7 shift LizLy
EWVS3DE, * D E%EE precedence [E + &Y E.

L gt V]|
—EEFERY Y

exp: exp '+' exp { result += val[2] }
exp ' exp { result -= val[2] }

L gt V)
—EEFERY T

exp: exp '+' exp { result += val[2] }

| exp'-'exp { result -= val[2] } E
| exp ™ exp { result *= val[2] } | exp ™ exp { result *= val[2] } ./l\
| ‘(exp’) {result=val[1]} IlE - lf | ‘(exp’) {result=val[1]} IlE - lf
| NUMBER | NUMBER
- SEEd: NUM NUM CRMLED NUM NUM
—— hEEHE
AJI: NUM - NUM - NUM \ / AJI: NUM - NUM - NUM \ /
BEQKRE: E-E ggﬁ:/\“—xu; BEQRE: E ;rgﬁ:/f—xu;
shift-reduce conflict &Y ! shift-reduce conflict &Y !
RABYYEIZE-E &Y, RIZHEDIFE -. ZABYJEIZE-E HY, RIZHEDIF -.
faEg EH? faEdEH?
REDUCE
b — b —
gy | g ]|
—E R RY T —ERITERY T E
exp: exp '+' exp { result += val[2] } £ exp: exp '+' exp { result += val[2] } /i\E
| exp'-'exp {result-=val[2] } E - | exp'-'exp {result-=val[2] } E -
| exp ™ exp { result *= val[2] } ./L\. \4 | exp ™ exp { result *= val[2] } ./l\ \.
| '("exp') {result=val[1]} T - E NuUM | '("exp') {result=val[1]} T - E NUM
| NUMBER | NUMBER
:*L/J/‘i;?.}ﬁﬁ NUM NUM chhbED NUM NUM
AJI: NUM - NUM - NUM \ / AJI: NUM - NUM - NUM \ /
BEQKRE: E-E ggﬁ:/\“—xu; BEQRE: E ;rgﬁ:/f—xu;

SHIFT SHIFT REDUCE

REDUCE




F20: FLo

—EETERY S E
exp: exp '+ exp { result += val[2] } / i\E
| exp - exp { result -= val[2] } E -
| exp ™ exp { result *= val[2] } SN\
| '(exp') {result=val[1]} E . E NUM
| NUMBER l l
chpsms oM NOM
PNl
A NUM - NUM - NUM \ /
BREDKRE: E INETIT/N—RLTz
FEDKRE o

shift-reduce conflict &Y ! .

ZBYYEIZE-E &Y, RIZHEDIFE -.
fAEg&Emn? ¥

reduce ZL7=L). £LV5D - [T left-associative.

BEELHEEE

s BAELEEMERISDDAENHS:
1) Racc [TXAEEhELFFIZTS.
+ Raccl& (Yaccld) . shift-reduce conflict A& 2 & shift 3%
s L. E5T 5L TRYSTDERNAMYIZLES; thdEh
DNETINVTTEDIZKEN TSI, —BMIZIFILAULT
[EeAyA
2) BVNVEWNMELSRLNGEICESEHRZ S
s BHNORMIKIEDEETAHY
3) Racc (Yacc) DBEEREZALD
« {oLHEE, left, right, nonassoc

=+ AN
EBERELEEH
- BEEMIERINDL, Race (ERIREES LHRAICEEEZEY
HTH
- ﬁg?ﬁ%%‘)@@ﬁﬁli EEHENENMNMTVDIESE (F=IXT D, 15
RIZHES
- EMBAOBEE . RAERKIRESOBEETHD
« f5i: R8I E = E + E DEREE == prec('+)
« shift-reduce conflict M f#;H 75 %:
— prec(terminal) > prec(rule) ==> shift
— prec(terminal) < prec(rule) ==> reduce
— prec(terminal) = prec(rule) ==>
« assoc(terminal) = left ==> reduce
- assoc(terminal) = right ==> shift
« assoc(terminal) = nonassoc ==> T5—

BEELHEEE

prechigh
nonassoc UMINUS
left Rl
left e
preclow
rule
target: exp
| /* none */ { result =0 }

exp: exp '+ exp { result += val[2] }
exp ' exp {result-=val[2] }
exp ™' exp { result *= val[2] }
exp '"exp {result/=val[2] }

fuk (B ("exp') {result=val[1]}
S — ' NUMBER =UMINUS { result = -val[1] }
AT HBIREEE T AT oeeevesseneennns TE | NUMBER
end
2Ry LD RAIDED........ E%E
LLiEAT BEELHEST
EBERELEEH BEEELIEEE
prechigh prechigh
nonassoc UMINUS nonassoc UMINUS
left o left o
left o left o
preclow preclow
A BERD A BERD
—_— —_—
AT HRIEZAE T ASGoerverreenenns " E prec("™') > prec('+) AF: HRIEEAE T ASIToereeemreeeenenns " E prec("™') > prec('+)

Ry Lo RAIOAD: .. E+E

REv LD RAIOAED:..E'+E

SHIFT




BEELEEE

prechigh
nonassoc UMINUS
left Rl
left o
preclow

ShhbEs
—_——
PR S T B — ~E
R8s LD BRIOHED:..E '+ E

prec(‘+') = prec(*-')

BEELHEEE

prechigh
nonassoc UMINUS
left Rl
left o
preclow
INDBEHRD
—_—
T T LR C— w E prec('+) = prec(-)
2By LD REOAED: .. E+E
REDUCE

£ — 4l

£ —

prechigh prechigh
precow " E preclow " E
rule rule
target: exp v E target: exp v E
| /* none */{result=0} | /* none */{result=0}
exp: exp '+' exp { result += val[2] } E3u5m? exp: exp '+' exp { result += val[2] } E36%Mm?
| exp'-'exp {result-=val[2]} | exp'-'exp {result-=val2]} - -
| exp ™ exp { result *= val[2] } | exp ™ exp { result *= val[2] } prec(™") > prec( ') ==> SHIFT
: e(xp I e)xp ({ result /= val[2§ } : e(xp I e)xp ({ result /= vaI[Z% }
‘("exp") result = val[1] ‘("exp") result = val[1]
| -"NUMBER ({result = -val[1] } | -"NUMBER ({result = -val[1] }
| NUMBER | NUMBER
{1 B
prechigh prechigh
nonassoc UMINUS nonassoc UMINUS
ot S BED PO ShhBHE
precow " E preclow " E
rule rule
target: exp v E target: exp ..~ NUMBER
| /* none */{result=0} | /* none */{result =0}
ESRBMN? ESRHN?

exp: exp '+' exp { result += val[2] }

exp ' exp {result-=val[2]}

exp ™' exp { result *= val[2] }

exp '/"exp {result/=val[2]}

‘"exp') {result=vall1]}

-' NUMBER =UMINUS { result = -val[1] }

|
|
|
|
|
| NUMBER

exp: exp '+' exp { result += val[2] }

exp ' exp {result-=val[2]}

exp ™ exp { result *= val[2] }

exp '/"exp {result/=val[2]}

‘‘exp') {result=val[1]}

' NUMBER =UMINUS { result = -val[1] }

|
|
|
|
|
| NUMBER

prec('-') > prec( ') ==> REDUCE
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BHASbYA else (dangling else) BHASbYA else (dangling else)

" Xk . jSC%:'fEth Selse S
L a=i en S else
S:=ifEthen Selse S S = ifE then S
S:=ifEthenS Su=..
S:u= .. o FfR: SCEDESHA
+ IR ifathenifbthen S else S gfffm
- ﬁg*ﬁ' 1: if a then (If b then S else S) M':':= if E then M else M
— i #7 2: if a then (if b then S) else S M=
« Raccld shift-reduce conflict Z#g& U:=ifEthen S
e ) U:=if Ethen Melse U
— T 74— Lk shift (BHDILD)

Racc M7 74— JLEENE

» Shift-Reduce conflict
— shift

* Reduce-Reduce conflict
— A DHRENT reduce
— —fRBIICIE. RED/NT !




